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& 152 K 4 OUT | IN |GROSS|HDCP| NET
125 FHE— 40 34 74 15 59
2 f2E%NFE 40 37 77 18 59
3 N 2R 40 34 74 14 60
4 BILER 38 35 73 13 60
5 =0 & 34 36 70 10 60
6 BB — 39 36 75 14 61
7 BERHEIE 36 34 70 9 61
EHK— 33 35 68 7 61
BKEA 41 38 79 18 61
10 KIEHBA 37 41 78 16 62
B H FA A 40 37 77 13 64
BRER 38 37 75 11 64
i AR =] 39 38 77 12 65
25 F 38 38 76 10 66
15 RIE & 43 40 83 16 67
oA & 44 38 82 14 68
K== 42 34 76 8 68
I E 41 43 84 16 68
NG & 42 42 84 11 73
20 E2 42 44 86 12 74
=iE =2 49 43 92 16 76
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NI 32 K 4 ouT IN |GROSS|HDCP| NET
12 hg kA 38 38 76 20 56
2 RE =E 36 39 75 17 58
3 fin B 2 B 39 38 77 19 58
4 AKFEHESE 41 37 78 18 60
5 KANT 40 36 76 16 60
6 fatth B K 41 44 85 24 61
7 A FR g 3 40 40 80 19 61
hLE— 41 42 83 22 61
ILAZE 41 40 81 19 62
10 = B 42 38 80 17 63
A & 44 39 83 20 63
BH R 45 41 86 22 64
TK I B 1 46 47 93 26 67
AT 54 5] 43 41 84 17 67
15 R Bh 43 45 88 19 69
NEF— 41 43 84 15 69
SHIER 45 54 99 29 70
FEE/N 47 49 96 24 72
EHEX 49 54 103 28 75
20 R E— 52 46 98 20 78
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&5 HEEEF 40 39 79 24 55
2 FHEF 42 40 82 22 60
3 INFEF 38 42 80 17 63
4 LA FRT 40 43 83 19 64
5 WET=E 42 40 82 18 64
KAEF 38 42 80 15 65
THESE 37 43 80 15 65
ZHEF 39 41 80 14 66
INR LT 41 38 79 12 67
10 INGETF 50 44 94 26 68
BEET 45 46 91 22 69
\WER/NE 43 51 94 24 70
= EE S F 49 43 92 21 71
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